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General Instructions:

1-
2-

All questions are compulsory.

Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03
fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason
questions. Each question is of 01 mark.

Questions no. 02 to 07 are very short answer type questions, out of which 02 questions
have internal choices. These are to be answered in 40 to 60 wards. Each question carries
02 marks.

Questions no. 08 to 13 are short answer type questions, out of which 02 questions have
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03
marks.

Questions no 14 to 16 are essay type questions; all the questions have internal choice.
These are to be answered in about 250 words. Each question carries 05 marks.
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Which of the following is not a principle of administration?
(a) Economy of force

(b) Foresight

(c) Cooperation

(d) Unity of control

Answer- (d) Unity of control
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Which army is addressed as the Queen of the battlefield?
(a) Air Force

(b) Infantry

(c) Navy

(d) None of these

Answer- (b) Infantry
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Where is the nuclear test range located in India?
(a) Chennai

(b) Bangalore

(c) Mumbai

(d) Pokhran

Answer- (d) Pokhran
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The highest officer of the higher defence organization of India is-
(a) Defence Minister

(b) Prime Minister

(c) Chief of Defence Staff

(d) President

Answer- (d) President
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When is navy day celebrated in India?
(A)03 December

(B) 04 December

(C) 05 December

(D) 06 December

(E) Answer- (b) 04 December
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Where is the Air Force Academy located in India?
(a) New Delhi

(b) Chennai

(c) Chandigarh

(d) Hyderabad

Answer- (d) Hyderabad
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Which is the main battle tank of India?
Answer- Arjun
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Write the motto of NCC.

Answer- Unity and Discipline
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Who is the author of the book ‘A study of war’?
Answer- Quincy Wright
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............... is called artillery of section.
Answer- L.M.G.
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The headquarter of Indian Army locatedin ....................
Answer- New Delhi
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The missile test rangeof India located in....................
Answer- Chandipura (Odisha)
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Assertion (A)- Section is smallest unit of the Army.
Reason (R)- It has only LMG group.
a. Both Assertion (A) and Reason (R) are true.
b. Both Assertion (A) and Reason (R) are false.
c. Assertion (A) is true but Reason (R) is false.
d. Assertion (A) is false but Reason (R) is true.
Answer- (¢) Assertion (A) is true but Reason (R) is false.
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Assertion (A)- In modern period, Air Force is considered a symbol of
victory.
Reason (R)- Because the Air Force is capable of taking action
everywhere at a rapid pace during war.
A. Both Assertion (A) and Reason (R) are true.
B. Both Assertion (A) and Reason (R) are false.
C. Assertion (A) is true but Reason (R) is false.
D. Assertion (A) is false but Reason (R) is true.
Answer- (a) Both Assertion (A) and Reason (R) are true.
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Assertion (A)- Nuclear, biological and chemical weapons are
examples of conventional warfare.

Reason (R)- Unconventional weapons are called weapons of mass
destruction.

(A)Both Assertion (A) and Reason (R) are true.

(B)Both Assertion (A) and Reason (R) are false.

(C)Assertion (A) is true but Reason (R) is false.

(D)Assertion (A) is false but Reason (R) is true.

Answer- (D) Assertion (A) is false but Reason (R) is true.




Very Short Answer Type Questions 06x02=12
IRAR {9 A6 & DIg al 3Ga3T fofRay | 2

1. 9189 @Rl A GREAT BRAT
2. ANRE ULTHT Pl ATARIBATTIR ASART BRI
3. JTdR® Waxi A fAued ¥ IgInT BT 31 |

Write any two objectives of the Indian Military organisation.
Answer-

1- To protect the external threats

2- To cooperate with the civil administration as per requirement
3- To cooperate in dealing with internal threats etc.

ARAT AR DI [Pl IR U=gleaal & 4 feRay | 2
IJR—

JMSOTTOTHO Hofasl, IATSOTA0TH0 fedh!, ATS0TA0TH0 IrRET
JMSOTFOU0 JTRETT 3Mfe |

Write the name of any four submarines of Indian Navy.

Answer-
INS Calvary, INS Shilki, INS Arihnat, INS Arighat etc.
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Write the characteristics of armoured crops.
Answer-

1- Strong blockade

2- Attack with speed

3- Extreme firepower etc.
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What are the weapons of mass destruction?
Answer-

1. Nuclear weapon

2. Biological Weapon

3. Chemical Weapon
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Which platoons are there in an administrative company?
Answer-

1- Quarter Master Platoon

2- Medical Platoon

3- Transport Platoon
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Write the units of Territorial Army.
Answer-
1- Urban Unit
2- Rural Unit
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Write the reactions of atoms.

Answer-

1- Nuclear fission

2- Nuclear fusion
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Write the aims of NCC.
Answer-
Building leadership capability
Develop the sense of discipline
Character building
Creating awareness about national security etc.
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Short Answer Type Questions
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Write any three principles of administration.
Answer-

1. Foresight

2. Economy of force

3. Cooperation

4. Flexibility etc.
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Write the emergency powers of the President of India.

Answer-

1- Article 352 (During external aggression and internal disturbance)
2- Article 356 (During constitutional machinery fails in the states)
3- Article 360 (During financial crisis in the country)
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Write the main features of the corps of engineers.
Answer-

1- To arrange accommodation for the soldiers
2- To make arrangement for field blockade

3- Disrupting the enemy’s supply system

4. Making warfare maps etc.

11

IIS! @ BIAl HI oI DITOTT |

W_

AT AT DI RET BRAT

. ggg ¥ oy @ Afafafedl S R BRAr
. ¥ B JEUl Bl A BRAT

. I3 D GRS Il U THAV FHRAT IS |

A WON =




Describe the functions of submarine.

Answer-

1- To protect the maritime border

2- To monitor enemy activities at sea

3- Destroying enemy warships

4- Attacking strategic positions of the enemy etc.
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Describe the commands of Indian Air Force.
Answer-

1- Operational commands — 05

2- Training command - 01

3- Maintenance command - 01.
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Describe the main functions of Border Security Force.
Answer-
1- Securing the border
2- Stopping illegal smuggling at the border
3- Supporting the army during war
4- To cooperate with civil administration during disaster etc.
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Who comes under the second line of defence?
Answer-

1- Border Security Force

2- CRPF

3- CISF

4- ITBP

5- Assam Rifles

6- Sashastra Seema Bal etc.
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Classify missiles on the basis of strike distance.
Answer-

SRBM

MRBM

IRBM

ICBM
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Essay Type Questions
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Describe the characteristics and disadvantages of Infantry.
Answer-
Characteristics

1-

Optimum capacity
Self reliance

Land holding capacity
Strike power
Mobility
Collaboration

Disadvantages
1- Lack of mobility

2-
3-
4-

Not able to carry much load
Shortage of work area
Lack of security etc.
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Explain the higher defence organization of India.
Answer-

1- The President (Supreme Commander)

2- Cabinet committee on security

3- Defence minister

4- Ministry of Defence- Dept. of Defence, Dept. of Defence
production, Dept. of Defence and Research, Dept. of
Military Affairs, Dept. of Military Welfare etc.

5- Head quarter of Armored forces (Army, Air force and
Navy)
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Discuss the characteristics and types of service aircraft of Indian Air
Force.

Answer-

1- Reconnaissance and care
2- Mobility

3- Flexibility

4- Rescue

5- Penetration power
6- Concentration

Types of aircraft

1- Fighter aircraft

2- Bomber aircraft

3- Blocker Plane

4- Reconnaissance aircraft
5- Transportation

6- Training aircraft
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Highlight the functions of Indian Navy.
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Answer-
1- Protection from maritime threats
2- Protecting the Special Economic Zone
3- Security of maritime border
4- Maintenance sea communication line
5- To cooperate with civil administration in emergency
6- Conducting strategically war exercises
7- To protect maritime trade etc.
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Define weapon and describe its characteristics.
Answer-
Definition of weapon

1-

2-

3.

According to JFC Fuller- weapon is an instrument with striking
power.

According to Webster dictionary- Weapon is any means attack or
defence.

According to Oxford dictionary- Weapon is a means which has
sufficient capacity to cause injury to the body.




14

Characteristics of weapon
1- Accuracy

2- Range of action

3- Striking power
4- Portability
5- Volume of fire
6- Endurance
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Describe the characteristics and disadvantages of rifle.
Answer-
Rifle design
Characteristics
1- Security
2- Endurance
3- Range of fire
4- Striking power
5- Range of action
6- Portability
Disadvantages
1. Unable to fire at the enemy hidden in cover
2. Short range fire capacity
3. Unable to functions in all weather conditions
4. Low striking power
5. Soldiers getting tired due to continuous lifting etc.




